('27) 79 "7 'O R,V "2 .7"02

- TYDIN NRMIY RAVA 1D
The red cow can become impure with the impurities of food

Overview

"7 maintains that even though the 77X 779 is not eaten, nevertheless it is
considered a ‘food’ (%21%), and it is PP22IR XMV RV, Our MOOIN discusses at length
the meaning of PPY2IR NRMW RPN, and why we require the reasoning of N7 2RI
W YR .

- 28DV NYAP 99 NNY Gow xa0 97 P9 132 NINXY NN 7993 DIVIPA AWPN
>"'w9 asked in 112 XY 1NIX P99, why do we need to come on to that a 779 can receive

ANR -
= 3057)2) DTN INNVN NN NINT N PIVN

You can derive that it is Xnv, since the 779 itself is X2wn people and clothes -
= (x,n2 97 *NVINY DT PID2 MNI93 WIDN XINY INNDLT \ M)

And >"v" answered that we find a similar question and explanation in nn°92 ndon

in 7w 27 P95, where the X3 answered, we are discussing a case where -
- PN TN G0N DIIN NY NIWN IN PN NNY291) NN 1NDNY 5105

For instance where he covered the [meat of the 79°21] with dough, less that the
size of an egg (but together with the 1%°21 there is a n1¥°2)), so if you consider the

77221 as food (through this nawnn), the 7%°21 will combine with the dough (to make
it a 7¥°2)) -
- DOYIIN INY NIOM DINNIVA ¥ BN 7ANMIV P NN Y271

!'9mx1 7""72 (on the very top).
2 The simple meaning of T72I1% NXMW Xnwun 779 (according to this question of >"'w7 who mentions AX™W0 NY2p) is that if
a Xnv 127 (such as a 77°21) touched the flesh of the Funwaw 779, the 710 will become Xav. This indicates that if no 227
Rnv touched the 779 it is MAv; however this is not the case! The same question would be if we assume that X»nv» 779
921X NRMW means that the 779 itself can be P22 v since it is considered an 92X because it had a w137 nyw; why
do we need this reason when the 779 itself can be Xaun even 0°7321 07X (and certainly P791X).
3 The 770 writes in 71,0° (NPM) 72712 regarding the one who burnt the 779 that 2797 %Y X012 1732 022° AN AWM.
The one who burnt it, obviously touched it.
4 The Xm3 there cited a 73wn which stated that a 77°21 does not need 72wn» to make it food. [Normally certain foods,
which are not commonly eaten require an intent (72nwn) that it will be eaten, in order that it should be nx»w 2pn
1921%.] The X3 asked why discuss 7awn» (which can make food only into a axmw? WK if it touches an IRV IX),
when a 77°21 is XnY as an X172, by its own right (without needing to receive axmw from elsewhere). This question
by n12°21 is similar to s""w1 question regarding the 717X 775,
> The 1127 M amends this to read, 1790w 9wa 1D (instead of 1727w 1132).
6 Less than a 7%°22 cannot be 1921 NRAW 23pn. [A 79°21 can be Xnun even if it is only a 7921 n°13.]
7 Since there is a %23 of food when the dough is combined with the 77°21,. See later footnote # 13.
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And this dough can be 1182 %apn, if the dough will touch 82 (such as a yw),

and it will also be X»w» other foods, which it touches afterwards -
= SNTIWIY N2 MUY NNV PN IND JAPN KY NIN IIIN IND IN)

However if the 7521 is not considered food (for it was lacking the 7awnn), the

dough will not be 78210 22p», since it is lacking the size of a nwa> -
- 199WY JND 1Y P NUN 70923 PN PRY I PNV DXINX PYIIN 1152 I3 99)

And when other foods will touch this dough they will be 79170, since they are
not touching the 179°21, but only the dough. This concludes the quote from >"v —

N1DOIN reviews s™"W1 answer:
= 99NP MN*I0T YY1 QIVN 1079523 99NY NN

And the reason *"21 mentions 779921 (even though the initial question was regarding

779), is because *"w1 was referencing the X723 in NINS92, which was discussing 79721 -
= P71 NDT PN 12°39Y AN LANMIVA Y)* ON NIRNIV PN INND DAPNI MINY NN

And this which >"vn writes, ‘and this dough will be nx»m bap» if it touches

another fIR%"’, it is apparent to the '’ that °"v" was not precise -
= 12395237 1 5515 WY 599990 MINIDT PN NDINT NINNY

For that case in ninsm3, where he covered the 115°21 with dough, is discussing

where there was a n°12 of the 119321 meat, and a 7521 is 1122 Xnun, so why do we need that

the Px2 should become Xnv from another source when it can become Xnv from the 139°21 -
= 18255 99998 *1 HY NHr23N )10 PN NHPVY BN

And it appears to M50 that the dough can become X»w from the 772921 through

the combining of the 7%°21 with the dough to make it a 5738525, The 7%°231 can combine

with the dough even in this case, where the 719°21 is causing the 7¥m to the dough -
= G0N NNPVN NPNY 91D NTINY INN DIPNN NNVINY NS

Just as the 7%°21 combines with the dough when the dough becomes X%t from
another source (where *"1 agrees), for this n°r> of 715°21 can have a dual function
to be X»un the dough, and to be combined with the dough for a 7¥°25 -

8 The same answer can be given here regarding the 7179, that in a case where some food (less than a 11%°22) is wrapped
around the 7719 meat, if the 779 is considered 7221, the food can then be R Yapn from a YW, etc. See later footnote
#15.
® See shortly footnote # 10.
10 See footnote # 9.
T See footnote # 7.
12 See [bracketed area in] footnote # 6.
13 Mmoo maintains that the p¥2 can become Xnv directly from the 7%°23, and it does not need to become X»v from another
78mw. The problem is that the X2 is less than a 71%°2, so how can it become X»v from the 72°21. According to *"wA that
the dough touched another 78”1, so the 7%°21 and the dough combine for a 7¥°23, however according to Moo, when it
is 78mIW 72apn from the 7911, there is seemingly no 7822 in the dough alone. This issue is now addressed by mooin.

2

TosfosInEnglish.com



('27) 79 "7 'O R,V "2 .7"02

N1voIN comments:
- 14D1‘,7)3 593 Y99 9939 HYAVY INVIYN 1 MNY NN

And it appears that >"va (in 771n) retracted from his view, which he was

accustomed to explain in other places -
= 9NN )1 INDV HAPN NYXAIN MND YIINT

That food less than a 772°2> can be n''77 7R2MW ®apn, however here he retracted -
- NIIWPY 153 DT ANIDID PEA IND YA NOT NN WD 39NV

For he explicitly stated that this dough will not be 52 ®2p» for it does not
have the required size (it is less than a 7%°320) —

In summation; >"w" explains the ruling of 19218 NXMY IRHLVA 779 in a case where food less than a
7¥°25 was wrapped around the meat of a 77719, and something X»v touched the food; we combine
the meat of the 7319, which is considered food (w1371 Avw 7% 7n°M 2°X7) with the other food, so it
is now the size of a %2> and the food is a8V 2pn.

MooIN anticipates an alternate solution to s""wA question:
= UI9N NYY YW OYLY NIN TP PN 91998 NDAT DIVNPN NMOWIP YINY PN)

And we cannot answer s'*''w9 question by saying that even without the idea of
combining the 7775 with the dough, we still need the reason that the 775 had a nyw

@27, and (only) therefore it is P21 NRMIV XNLA -
= (3 mwnn pag) N9 NIDNA )INTI PPOYNN NIN ANNVNY 18N NDT DIVN

Because we do not find that the 779 is X»w» whoever touches it, but rather it is
nxnun only those who are involved in the processing of the 7179, as the 1w states

in 792 noonN -
= D)2 NNVN PN DNYY 1Y 70272 NPVN PYVN NN NHYNRD D299 199 9NV

‘One who burns the 7175, or the oxen, or the one who sends the goat 71X1v5; these
people are X»v» garments, however the animals themselves are not Nmnwn»

garments -
= NNNNV NN MNPV XY [TPNNVNI] 9N 1T Y9N

‘So this garment which became Xnv from the involved person ‘says’ (so to speak) to
the involved person, that which made you X»t (the animal) did not make me R»,
but you made be X»w’; we see from here that the 779, etc. cannot be [@731] Xnvn, so

14 See 11¥°202 11"7 2,35 010 and XYY "7 K,XS DT
15 See (text by) footnote # 8.
16 The 0™ 1 here refer to the 157Ww17 01, which are the 7°wni 172 79 and the M12°% Hw 927 0%¥: 79 [and the (°vwn) 7B
of 2"1]; these 0°15 are burnt 7ann? yInn (after the 1R were removed and brought on the 1721n).
17 See n13-13,10 (°10XR) XIPM and *-11,v° (NPR) N7
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presumably it cannot be 1pwn PR Xnwvn either, therefore we need the reason of w157 nYW that it
is TR N vy, This would seemingly answer s"Ww9 question —

Moo negates this answer:
- B)HoynNn NN NN ANMV XNVY NDY INNN PPYNI PN XD ANNPLVN DIPN DINT

For nevertheless, even though the 719 is not 0°732 Rnvn, but it is PPw2I P92 KL,
since eventually it will be X»u» those involved, with a more severe IR» -
- 19%9Y 9Wan KYY D 9WaN NY S¥a X
And the 775 does not require in order to transmit this Xm0, neither 2% "wsm, nor
YR W -
- (Dwr N 97 A1) PDPD NI P92 INYNIYS ¥ %27 INTH
As the 5''% 527 taught in 320 X2 P9p -
=919 WM 129598 NN INMIL NNVY 191D PRY 2202993 N
Just like seeds that are not destined to be X»u» a 7971 IR2IY, (only) they require

0’1 2R, etc. Therefore the 75 is always P22 XMW XMvn, and we need to say that the idea
of 137 Nyw is regarding M7X that the 775 can be combined with the dough for the required size
of a 7¥"2>.

In summation; clearly the 779 itself cannot be 0°751 078 Xnwn (only the PPOYNM become Xnv);
however, since it is 7717 IRV XML 1010 (the PPOYNN), therefore it can by itself be P21 XnLA
TPWM (even without the reason of W27 YW 737 An°M 2°X17), so we must say (according to °"w)
that the novelty of P21 NXMIW ARNYA 799, since it had a w157 NYw, is regarding M. The fact that
it is 770 XMV X1 does not necessarily mean that it is considered food, only the reason of X173
W7 NYW 77 WM give it the status of 93X to be %235 ANvYA.

mooin offers his approach:
= T Y NIN 2301 XD NN INNIV RNVY INNDY NNT NINND PHX 1392

And the >'' answers s"" question that the fact the 779 is 7970 IR2W RBYVD 10,

'8 The Ppovnna receive a 77mn ARAY, since not only are they AR 22pn, but they are also Xawun their >33, while P93IR
PpPw»), which become Rnv, can never be 0°732 Xnvn. [We may need to revise s™"w question that we are asking why
the need for w171 NYw, since the 779 is 7N ARML XAWV? 7910, it can be PPWM PR XnvA. ]
19 Normally in order for food to become Xnv, it is necessary first that it come in contact with one of the seven liquids
(indicated in the m2°n *wX1 of 2"7 v"nw 7", of which water is one of them). This is called o°» "w>7; it is being made
fit to be I8 Y2pn by coming in contact with water. Afterwards it needs to touch something which is &nv, like a yw
(this is called yaw "w>i). Once this happens the food becomes &nv and can be Xnvn. However the 179, etc. does not
require 21 w377 and PO w73 in order to be PO RnvA, since PPOYAN DR 7INAN ARNIY KAL? 790..
20 The D°p109 in A7-12,8° (CInw) X1 state; 23] Y] 2¥ 07 102 %2 19 X317 70 Y WR ¥371 377 92 Dy anban 95 ) 19
0% X RpY 1Yy on2an. This teaches us that 2°v1 (food) cannot become Xnv, unless they come in contact with water.
However o>y (food) can never be 7m0 axmw Xnun (they can never be 0°201 07X Xnwvn), however something which
can be 77An ARMY RPN, does not require Wi, Since the 77 is 77N ARMY XALY, it does not require a°» WO and
P w37, and it can be Ppwm PRI KA.
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is effective only regarding specifically this, meaning -
= N9 ¥ 19INDY D193 YUNN 1DIND 1Y vaunT

That we consider it as if it was already 2"»3 w27 and as if the 775 touched a

T (we do not require these steps in order for the 775 to be 1921 NRMY RAY) -
= D9IND DOIN PRY MYYY D' PN VAN

However the fact that it is 7777 I8 XYY 1910 is not effective to make a non-

food (the 779, which cannot be eaten) into a food -
= ©Y9NNRY DXONNY D19 NHNY JIIN 2927 PI¥NRY 239D 7990

Therefore according to 2''v who requires that in order food should be considered

20X (food), it needs to be food that you can feed it to others -
= ©Y9NNY 1999NNY [D9INT] 19V XY 191N ANMIL NNVY INDY N

So the fact that it is 779917 R2W X2Y> 1918, will not make the 7119 like food which

can be fed to others -
= Y190 NYY NY NIV DIYN NN 2INHPVN XY 7o9

So therefore the 7179 is not 17518 N XM, only because it had a 9wns7 nyw, when
it could have been redeemed and eaten, therefore it is a (virtual) >R 1272877 212° DKW 90 —

In summation; M50 maintains that even though this 7179 is 70 IRV XNYY 7910, nevertheless it
would not be considered 72X (if not for the fact that w127 nyw 3% 7n°m 2°X17) and would not be
able to be Xnun food, since W"7 maintains that we require it to be an 0°IR? 279K 212° ANKRW 79K
(which the 7779 is not).

mMooIN seeks to prove his point:
= 1339 1907 (x,np 91 0 DIV P9 9D DINATA NN 199

And so it is evident in 2°172r noon in the end of 21° ®12av =5, where the Xn» =2

taught -
= D12 NNLVN DN 2[DNYY] ONY 22097)a NNVN YYD NHWNNI 220599 N99N 9NIYN

‘The one who burns the 717X 7199 or the 0°97w17 299, or the one who sends away
the >1x1v% 99pw, they are X»wv» garments; however, the corpses of these animals

2! This (presumably) does not mean that in order to be P721% Xnvn, the thing which is v must be food, for a person
and utensils which are 8nv can be pwn1 177218 Xnvn. Rather this means that whatever is not 2°921 07X, but rather an
animal (which in broad terms may be considered [potential] food), cannot be &nvn unless they are actually food, and
according to w"" that means it is food that you can feed to others. Therefore this 7713, since it is not food that you can
feed to others, it would not be considered 2%, if not for the fact that w27 nyw 7% 7nom.
22 See footnote # 16.
23 See footnote # 17.
24 From the continuation of the X n3 there it is evident that regarding the 0191 779 (RWwn) we are discussing someone
who touched the animal after the nvnw (but did not burn it), however regarding the n7nwnn 1w we are discussing
clothing [or food] which touched it while it (monwnn °yw) was still alive.
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(the MR 7179, etc.) are not X»w» garments -
= 9N 29 9927 NPYWNI YIIN NNVMN NON

Rather the corpses and the live nonwni 1°vw are 8»2w» food and drink (only), this

is the view of »''n -
= PPYN PYIIN NRMIV NNVN DI99) N9 DN DN

But the 2°»51 maintain that the 2921 ;799 are PPpwa 199518 NRMIY KAWA, like 1" -
-0 NYIVY %391 NYNUNH PYY KY Yax

However the nb>nwnai 290w is not 12218 IR KawR, because he is alive’ -
= 9915 505991 N1 INYNHYS 79 %37 NINTI 9NN 229 NnRYWa 79999

And the X2 asks, ‘»''1 is understandable, for he agrees with the >''1 527 Xin,

who expounded, just like seeds, etc.
- 593 NYNYNN PPV IT9AN INPNIYS 529 %34 NINT 1Y SN ON 13399 NN

However according to the 3129, if they agree with >''27n that 7X2W RPWV? DWW 9

DY W T°IX PR 7140, then even the D nwan 29w should be 1pwnI 17998 Knvn, since it
1S 77T XM XYV 1D after it dies -
— 17951 0999 199 11D 1YY N

And if the 1127 disagree with the >"77n, from where do they derive that the 792

298’ do not require 7w WM o1 WA, for how are they Xnun; they are not 79221 -
= 9NN DIPNN DNV TYIN 193298 26PN YN

And °»7 27 answered, ‘they do not need 822 92377 from another place’ -
= ANMIV AWM 193998 PPN N9ININ ANMIV RNVY 199047 INNT M) WI9

The explanation of this answer is; granted that this item which will eventually be

TR IRMEIY KRR does not require FINMIY ST (that it should touch a X»v 727) -
= NAVN XY *N NITY NTIIAND 11N NIT NINWNN DYV 91 DIVNI 'y¥a Y9N 9vHn YaN

But it requires %28 w277 (it needs to be food), so therefore the monwnan yw

which is not fit to be eaten, since it is alive, therefore it is not 77218 NXAW KAwA -
= NN AYNIY D591 NN NNMDIV NHPVY INNDY NNT 920 IINMI 2297 IO XYM

So now there is this three way argument between 1", the 1127, and w"9; for »''9
maintains that anything which is 77w axmw X»ub 199, this is effective to

consider it food even if it is alive like the n>nwni Pyw -
= 991N AYNY DI 13INT DIVN NYNWND 9IPYY XY NNHLN NPT 0299 D997 920 92N

And the 3129 maintain that only 25991 7199 which were vnw2, are X»w», but not the

ARNRAT YIS since 770 XML RPVY 1010 is not effective to consider it food, since
the 7"y is alive.

25 See footnote # 20.
%6 In our texts in @°Mar 'on it reads 191 W3 173°7% (not 131 PI7X PR). See >"wAo there TR 1"
6
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= 2799190 NYY DY NN DININ NI XPIT 920 PYNY 19

And @''7 maintains only the 7795 is 1°921% DX KW, since it had a awon nyw -
- 28059ANY 1999NNY 19> NNNY YN 153 199p

So we read into it that the 779 is a food which you can feed to others -
- 299157 NYVY 11 NN KYY NYNYNH YY) 0299 XYY

But the 197217 2992 and the nonwn2 29w are not X»w», since they never had a
WD NYW to be eaten —

mooin offers an additional proof to the °"75 (as opposed to *"w79):
= 93N 1329 DONNI 2297 1D NDMN INAT 300997 XNODINI NN 19)

And so is this also evident in the Xn2o1n of 7199 NOOK, that after he cites the words

of »''1 and the 3329, it states there -
= U191 NYY NY NN TININ PUIIN NNV RNVN N9 9N PYIY a9

w''% maintains the ;795 is 199218 N2 XA, since she had a w1577 NYW, however -
- PYIIN NNHDIV PRV PN POIYIN DIIYY) POIYIN DD

The 7°27w37 2999 and the Powan 2399w, they are not T92IR DMV Rawn -
- 3199190 NYY 1Y NN X9 NV

Since they did not have a "2 27 nyw —

mooin offers an additional proof that 77 n AXMIY XMB2 1110 does not make it into an 9:

27 The 119 could be redeemed after the v nw, before it is burnt. Therefore it could be eaten.
28 All agree that anything which is 777 AR XAW? 1910 does not require YW WM a°» w7, However 1" adds that
it does not even require 791X Wwon, therefore even the "YW can be 1°7218 XMW RnvA, even though it is not an 721X (since
it is alive). The o°»21 do not require that it be an 0>INR? 12°K77 212° ANKWY 921X, therefore the 1°9Ww17 09, even though
there is no way that they can be eaten, nevertheless since they were vnws, they are considered 92, but the °yw since
it is alive is not considered 921. While »"1 maintains that not only does it need to be an 2 (which excludes the yw
n2nwni), but it also needs to be an 2NMKR? 122872 712> ANKRW 921X which excludes the 0>, but leaves the 779, for she
had a w1571 2w (she could be redeemed), therefore only the 779 is 1221 NV Xnwn (see footnote # 21). We see from
that X773 that according to the 1321 (and w"9) that 7m0 IR XYY 10D is effective to make it as if it had yw w>7,
but not effective to make the n?nwnn 1°yw (or the 019 [according to w"1]) into 92K.
2 Once the o719 were LNWw3, they need to be burnt and are not permitted to be eaten (there is no redemption after the
70nw), and the n2nwni 1YW is alive so it is not considered 92IX.
309" 1"s. Seemingly mooin is (merely) proving what he just stated that there is a three-way np12nn between 1327 1"
w"M (even though it does not say this explicitly in the above cited Xn>>12, but it states so explicitly in this Xns01n). See
however Footnote # 31, for an alternate explanation.
31 mpoIn proof is as follows, according to >"w1 the case of 17921X NXMIL X1wun (according to W) is when he covered the
meat with less than a 7%°25 of dough, and ¥"" maintains that since the 775 had a "7 nyvw, the meat and the dough
are 77vxn. However this Xno0in cites the opinion of w"7 after the views of 11271 1", According to them the 713, etc.,
is P71 NRMIL Run without resorting to the concept of W37 NYW 7% W 2°X17 (so we cannot ask on them [as we asked
on w"1] why do we need a 71377 nyw), but rather only because it is 7717 IRML ®AY? 1910, so they are not discussing
any 17 of m1°¥, but rather direct IRM™W, so presumably w" who follows them in this Xnoon, is also not discussing
77°¥ (as °"w1 maintains), but rather direct X2 (as the "1 maintains).
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= YD1 1?229X PN NAYNN 123298 1INP NI1T N10I33T NIRRT PNNY 13929 NN 1IN
And the >''1 brings an additional proof, for in many places it is taught that for a
certain item to be P22IX NRML Xnwvn, it requires thought (that you intend to eat it),

but it does not require W27 (either o» W27 or v Wwan). This is found -
- 33959953 YIPN NYA 32099 Y93 ANNV NNHHA NV 23X (x,x3 97 M) NOINY DT P92

In nwsnw a7 P92 regarding the carcass of a non-kosher animal which is found

anywhere, and the carcass of a kosher bird in the villages -
= 910 PY NYI 22 3#MHNV YN MY D9IY TN 23X (3,0 97 1) P20 NA P93

And in 2% X2 P92 regarding a pigeon which fell into a wine vat, and in the

beginning of N7 NvIwn regarding a 237w 7 N923; in all these cases -
- 3502WN1M 192598 NN ARNIV XNVY 1INV 399 TWID 199598 PRV 29 Y X7

Even though they need no "w>r, since 7721 N2 XYY 129, nevertheless they
require intent to eat it; proving again —

= DN ANMV XNV INDVY NN 23NN K [IIIN MNIVWI] XN 257
That regarding this aspect [of considering it food], the fact that mx»=m x»uY 12w
7Yam is not effective.

In summation; all agree (except for n"9) that even though 7m0 IRMIL XPY? 190 does not require
wos, but it is not sufficient to make it into a food (unless there is intent to eat it), so therefore we
need the reason of W7 YW 7% 70T PXRI.

N1IvOIN comments:
= 36931 DAN 9NN 229 )99 N NN

And it would be astonishing if »''% would argue on all these nrwn» -

mooin asks another question regarding 1"":
= PIY 9YA (3,77 971 o303 B DIV P9 (3,3p 97 pn) TAVIN T PI9AT IV

And additionally, for in ;72377 793 P75 and in 21 912w pap, the X123 wants to infer -

32 People generally do not eat a XY 772 N33, therefore it requires 72wnn to consider it a food.
33 However in larger cities there are people (gentiles) who eat a 0 77y nb21.
M x"nx"D.
35 The case there (by nxnv a2 N1 for instance) is where there was less than a n°1 of 79°21 (otherwise it would be
Xnvn as a 717°21) and it was combined with less than a 7%°23 of food, but together they make up a 7¥°35. We need mawnn
so that the 72°23 P12 Mo is considered food and can be Av¥» with the 7%°23n NMnd food to make it a 7%°22, and it will
be nxmw apn.(from the 72°21 [see footnote # 13]).
36 »"9 maintains that even the rm>nwni 7°yw who is alive and not considered food is nevertheless 721X NXAW KUY,
since 770 IR XML? 1910 (see footnote # 28). This seems to disagree with all these sources which maoin brought
that even if it is 121 RnvY 1910, nevertheless we still need 7awnn to consider it food (and by the 7 vw there can be no
12awnn to consider it food since it is alive).
37 See marginal note, W Xxn1 XY.
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= 9N 239 NOYDTNI NN 2295 NINN 3EMINVT YVWIN NN PRI NAYNN NIYINT NINNY
That the mwn in M 7w which requires 72wn» by a 17w 7w n>21, but does not

require w7, is according to »''1 since the X950 of that 71wn is »'' -
= 0ANNMVN NNV NINVN ¥NPIoN NVINY NPT

For the X9°0 states, the 7w or the ;7p°®7% of an v 7YY, which is a 72", makes
it 77w from its N2 of v 7w noa1 (this is the opinion of ") -

= 1329 NV 9NN 229 NOYD NIIN Y791 VN
And the X713 answered, ‘why say so, the 820 is indeed according to »''%, however

the Xw"1 is according to the 3339. This concludes the citation from the X723 -
= 419N 9395 NYT NHON NAYNND NN TN DY NN INIDIND s¥a NN 999

But how did the X713 even want to prove that the 71w in M7V is according to »'"7,
for since the mwn states that v 7Y N%21 requires mawms, perforce it is not
according to »''"!

A final question:
= 451 19 9AN 1 TV THN 22) (0w 2,n9p 91 PN VI NYNAT T

And furthermore in 29 77 P99 regarding the case where one cut off a piece

of meat from an 7 32 92R; the rule is -
= B3RPV 19NN T3 9NN 1YY AWIN IV PTY AYWIN T3 9NN 9NN

If he cut it off, and afterwards he thought about eating it, it is 991, however if he

first thought about eating it, and afterwards he cut if off it is X»v -
- Y9N Y 1Y “auanYa NY SPINT INNY ONN T599) NN %395 BND NY 11PN

And the X1 establishes this ruling according to »''; and the X7n) there asks,
according to the one who established this case where the w3 was w27 with

38 See footnote # 34.
39 npn is the process by which a bird offering was killed. The 775 would pierce its neck (from the back) with his
thumbnail.
40 A 70 M naa is Xnvn if it is swallowed. However if it was vnwi (for 121) or P2»1 (for a 17277) it is not N33 XA
7y°227, even if it is a 7970.
41 According to »"1 we do not need any n2wn» for it to be food, for (even) the live 2nwnn 1YY is IR NXMY XA,
since it is 77N ARV KAWL 1D.
42 5177 1 13K is a limb taken from a live animal. An *n77 37 12X is Xnvn like a 79721, however it must have flesh and
sinews and a bone. We are discussing where one removed (some of) the meat from the bone. This removed meat is no
longer an °1i77 12 72X since it has no bone. *1i77 12 W1 is not XYM as 72°21.
43 The difference is that if he thought to eat it before it was removed from the 72¥, that “wa is considered food and
since it was attached to the 72X (which is Xnvn), it became Xnv from the 728, However if he cut it off first, it was not
considered food while it was attached to the 72X, and now even though he wants to eat it and it is considered food, but
it is not Xnv, since it is no longer attached to the 12X, so it can no longer be R0 72p» from the 2x.
4 The meat came in contact with water; otherwise, even though it is attached to the 72X it cannot be Xm0 22pn, unless
there was previously a o» Ww>i.
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water, why do we need 2w>71, for this piece of meat -
= 459%AN 20X 19990 ANDIV XNVN *9N

Was capable of being x»un a 79%an axmw because of his ‘father’, the 1ax. This

concludes the citation from that X723, now n19010 continue with is question -
= 7159 RN NN 2395 DY 19NDPINT 23 HY 9N ynwun

It seems that even though we are establishing this according to »''9, the X 13 is

comfortable with the fact -
- 965311 NY NAUNN PIYDY WD SPA XYT 193¢ AN AN AN INMV RNDVY DY AN

Regarding that »aR 28 77mn aRmw X2wR is effective that it does not require
"w>r7; however regarding mawnm the 777 IRMIW XHLY 1910 is not effective —

moon answers and distinguishes between n2nwni v which is considered food and all the other
cases, which require 7awnn:
- AYNYNN PYY P2 PHNY YT PN 19229 9IIN)
And the >''1 answers that we can distinguish between the monwnas 29w (where it
is considered food (without 72wnn) because 71N IRAW XAV 1DI0) -
= NAYNN XY NDIIAND *1N NN VAW NN ONX NYIINY
For if it would have been vnws, it automatically would have been fit for eating

without any additional 72w, therefore the reason of 71n AXMY XAWVY 1D is sufficient to
make it 92X -

- Y9IN MIYYY 19D PRY NN I 9aN) NNV 9IY NY2I3 PRY NN
Which is not so by a =17 79w nba: or by n''m2aR where it is not intended to

eventually become food, for in those cases they are usually not eaten -
= NAVYNN 1PYAT NI 229 NI

n'' agrees that ;12wn% is required, and 11 X»v? 1910 is not sufficient to make it 72,

In summation; even 1" agrees that although by a n>nwni °vw (who is alive and not considered
food) we say that since it is 771717 XMW XMWY 190 this makes it into an 92IX; that is because it can
become an 22X if vnw3, but by other cases (such as °i71 1 92K) which will never become an 791R,
the 7710 RNV XHV? 1910 is insufficient to make it 92X, unles there is 7awnn to eat it.

MooIn continues:*’

4 When this piece of meat was attached to the 72X (the ‘father’) it is 777 IR™0 XnUA (see footnote # 42), and the rule
is that whatever is 770 78w Xnw? 1910 does not require W37, so why does the W3 require 2n Wwa7?!
46 We see that it requires 7awnn before the cutting off (see footnote # 43); if 191 Xnv* 1910 makes it into food (according
to n"7) even by the live 7°yw, why do we need his i1awnn at all here by the 72K 7w2?!
4T There is a basic difference between >"w"9 that we are discussing the possibility of receiving 7xm (see footnote # 2
& 8) through 717°%, and the *"95 that we are discussing the 7175 making food Xnv. This also reflects what the exact 072
should be; Xnun (others) or XAV M (receiving ARMIY).
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= N9Y ANV NYAP NN NP INNDT ANNVN 12209) KD XNVN 799 19209
And the text (should) read, a ;19 is X»un (others), but it does not read, xR
a 1119 can become X1y, for what difference is there regarding her ability to become

N -
- Y Y YN NN IWIFN NPV NY ANV 113 YDIINNK NNPVY IN

If it is whether she can be X»u» others, her X2 nN223p is irrelevant, for since she

had a 21217 nyw, she has the status of food -
= 119990 RNV NNVY NODT DIVN DIINNK NNVN NI INMDIO nb:m NY)

So even without her ability to become X»w, she will be X»uv» others (122X),

because 7971 IRMAIW RPAVY 7510 -
= PPYM PYIN RNDVN NPT INNDVI N9 NNV 1370907 NN 13) ONNIDIND

And from the XnpoIn it is also evident that we are 99 that she is X»wn others but

not RPNV, because it states it is PPWRY P9I KAV, so we see that we are discussing

the 7779 being Xnwvn others.
- PN NNAN HIND 179998 WI 7Y NIPNY 19D 9127 7598 NNV 19109 IN)

And if the text reads 8»w (the 770 receives IXMW), it will be necessary to say as
>"'w1 explained that he combined less than a 71%°25 of the 775 [to] less than a 77%°2>

of dough, for in this case -
— MN ANML NHPVY INDY NN HIPIN PRY P NNPVY N9V YWON INY

It is impossible for the 7175 to be x»u» the dough (even though the 79 is 81> 71910

7m0 aRM), for the fact that the 779 is 790 N2 XAWD 1918, is ineffective to have
it be Xnvn the pxa -
= N9V YN "NT NIN

Rather the concept of 121 Xav% 1010 can accomplish that it is as if the 799 touched
ayw-

- S2985291) MHIND NIN NI TWAY 119 PEAN NN NHVN 71 KY ¥IVA Y1) 19N
And if the 775 would have touched the yaw, it still could not be X»wv» the pxa,

since the meat of the 92 was less than a 132> -
- S394a 7 NRVIY 272 NN DIPNN INMIV NYAP T8 oY

Therefore the 775 (and the p¥2 combined) needs to receive X2 from elsewhere

48 This would mean that if a y7w touched the (dead) 779, the 770 will become Xnv.
4 This means that if she becomes Xnv from the 77w (see footnote # 48) she can be 7"231% Xnun (but if not, she cannot
be 190 Xnvn). However this is not true!
30 See footnote # 30.
51 The n"a7 im0 amends this to read No» 7977¥w (instead of NS 797XWI).
32 See footnote # 6 that there is no 7221 nXMY less than a 7¥°22. This is not like the case of 77721 (see footnote # 13),
where a n°12 can be Xnun, however here it is 17918 nX™W, which requires a 7¥°22.
53 See ‘Thinking it over’ # 1.
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(like touching a y7w) in order that the px3 should be R»w —

In summation; Mo01N prefers the X07°3 of Xnwn 779 that it is imparting 78"V to others, however if
the X072 is AXNL A it is discussing M°X as *"w7 explained.

nvoIN asks:
- 54mNra99) HNAY 99081V N9 NI RPA) INNTT nup

And there is a difficulty; what is accomplished by the fact that the less than a 7%°22

of the 7175 combines with the less than a 77%525 of the pxa -
- SSNYAY 993 ANMIV Yapm YN 991 INYA NN

For even without their combining, food is X% Hap» with a miniscule amount

12777 -
= 5605WTPN NN LY GIIYWH RNMIINT NNV NYAP PIYY IN)

And if we need the 717°X of the 779 regarding the pX2 (and the 71719) to become RXnw

NNYI1INTR, SO we can burn 2°w7P, which will come in contact with them -
=995 WIP N PRY 29 HY R NNIINT 570997 WIPN NN IN NN

This answer is acceptable if w727 nasn by 792 is Xn"MR7, even though there is

Nno "> W7 by the 779 as there is by i o3y -
- 19297 NYN PYIIN 3370 INPIV 19271 XY THI5 YY 192970 ON Yax

However if WP n2n regarding 7179 is only 22977 (but Xn»7X77 it is not considered

an 72R), perforce these foods (the px2, etc.) are only 333977 N2 Papn -
= 9139 N1aTya N9 T NIV RNININTNIT

For n''n» the 779 is considered as if it was burnt and it is merely like dust, and is
certainly not P22 that it can be combined with the dough —

mooin offers an alternate explanation if the X072 is XV (not XnLA):
- 792 NYYY BNIVUN 11 NIV NYAP 2T DY RNVINY NN PHN 13929 YWHDNI )

And, additionally, explains the 5''9 the X072 of X1, that when the 775 becomes

% We are assuming that the y W touched the px2 %231 nind, and we need the 775 7¥°25% NS to make up the 7¥°20.
35 The requirement for a 7¥°2 by P21 NX™W is only for a XN™IXT AXMWL, however 112771 even a W'D is IRV 22pn.
See ‘Thinking it over’ # 2.
3 If ow7p come in contact with a Rn™IXT XMW it needs to be burnt, but not by a 132772 xmw. Therefore it is important
that the 719 is considered 722X so now when the 77w touches the pxa which is attached to the 779, the pxa will be xnv
RNPNRTY, and 2°w7p which come in contact with it, will need to be burnt.
57 The 779 is MWL 7w and "1 maintains 27 MWD MW 7AW 93, so how can we consider it ?23%? The only way the
779 can be considered 92X is we say anWwIn wTIPR Nan. See previous ('R7) 719 "7 ' [TIE footnote # 14] that there
is reason to say that wTpn nan is only by something which requires naw %31 w11p (like 7n2%), w"»y.
38 The n"277 a0 amends this to read 1X? °XY 792 19091 pwi (instead of X7 °X 792 2091 7Wwn). According to what '0In
writes later (see footnote # 66), the word '7aw' is Xp17 X7, for it can be X7 Y2apn even from a "WoHw.
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NX»w from the yaw, the 7775 becomes invalidated, so its ashes cannot be used as 771977 79X -
- NHDY AND XYY ANMIV NYAPN NHN RY TWIIN NYY DY NPT INY N

[And] if it would not have a w1277 nyw (where it could be redeemed and eaten,
which makes it an 70X) it would not be 11821 9apn from the Y7 and it would not
be invalidated®® —

Moo responds to an anticipated difficulty:
= NYINPVN MNT OIYN IND COINNV PNPY NI PPDIVA NN TAPT 2) JY GNT

For even though the 77 \n was particular with those who are involved with the
7175 that they should be 2177w, that is not because these people who are X»v would

be R»wn the 779 -
= NYD 21950 51N99%) DIVN KON

But rather it is a 2'';77913 that the 1701w should be ™70 -
- PNV PNOY 1P Y 255 SVIYHA IN NIPA N PPOIVA 1IN

For even if they are involved by using a reed or flat wooden utensils (which
cannot transmit 7XnY), we still require that they should be 37770 -

nvoIN asks:
= S3ANMIVN NYINIA YD) NN 9ANN D) 2NNy [NIN] IIDANY INT 9NN ON)

And if you will say; that if you are saying that 7Xnv>» 775 means that the 772 itself
is XM 231 and therefore it becomes invalid for its ashes to be used; the ashes

should also become invalid by touching 7X@ -
= S4NVN ) NRVN 1N DTN XY RY (0w 8,33 97 an) YTPA 90N P92 9INTD

3 There is therefore a difference whether we consider that the 779 had a w1377 n¥w so it is considered an 931X and
becomes 7109 from touching the yaw, and its ashes cannot be used, or whether we do not consider that it had a nyw
qwIo7, so it is not considered 921X, and will not become Xnv from the YW and it will remain a valid 7379 to use its ashes
for nXvn * nanv. The meaning of the statement 131 19218 NRMW 78AWVA 79 is that since it can become &nv like food
(since it had a w1273 nyw), this AR™W n72ap will render the 779 invalid.
60 Seemingly the reason for this is that they should not be Xnvn the 778. This seemingly contradicts what M201n just
said that the only reason the 715 can be 8% 22p7 is because it has a 71373 nyw, but here we see that the 770 maintains
that it can become Rnv (without requiring the explanation of w1371 YW 737 70 M 2°X17). Why does @' need to say that
the 717D is X1 because it had a w127 NYW; it is obvious that it is X»Y» since the 77N states so!
1 The 1" M7 amends this to read, N7°137 (instead of N7°12).N1O0N answers that if W27 NYw 7% 77 K5 the 779 would
not become Xnv.
62 This question is on the >"1 w191 W1 (near footnote # 58).
%3 From the >"7 it appears that the 71977 798 will be invalid if the 715 touched nxmWv (since it had a w17 nyw; for it
could have been redeemed and eaten). This seems to imply that if the 7Xm™v touched the ashes, they will still be valid
(for ashes are certainly not 921%). However we find that the ashes of the 7179 do become invalidated when they touch
R (even though they are not 22IX).
64 nxvr " is the water which was drawn from a spring, and is mixed with the (nXWR 79X) 7757 79K,
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As the X713 states in wTIP2 9217 P95, ‘a person should not carry the ashes of the

779D or the NNV M -
= 65mymY NYYN DIVN NIODA DAY

And transport them in a ship because of the occurrence which happened —

NB0IN answers:
- RY Y IN) 650511 23U INMDIV Y291 YN NIPWN INT Y Y

And one can say that if the 779 is considered food (since it had a w127 nyw) it will
be sR®W Papn even from a 3w or a “wsw, but if it is not considered 521 (like the

ashes, which may be considered a °22) it will not be axmw 22pn from a *w>>w1 "W, but only
from an X207 IR —

In summation; we can be discussing the 7779 itself receiving 1?23 n&»W (even from a "1 or a
"w5w) and therefore becoming invalid, since it had a 2157 nYw so it is food. The 7797 79X can
become Xnv only from a n» [or an ARMIVA 2X].

mooIn presents (and rejects) other possibilities regarding the 719 becoming X»v from a yw:%’
= PPYOIN INMIV NNPVNY N1 NI RPIT 991D PPN)

And we cannot say that there is a difference due to the fact that the 779 will

become 921X NRMIW KAV (if it is touched by 7xnw); the difference whether it was Xnv1 (with

XY 127), or not, is -
= $815H9IX NNMIV N2 IPNHYN ININ NN ANNDIV NIY NIDY PPN JOIY INNNDT

That since the 775 becomes invalidated if it was touched by nX»v, so there is no
longer any 79yam ax@w (which it is XnvH 1010), nevertheless there still remains
TODIN NNMAMW —

%5 The X713 relates that once someone was transporting the NX0 21 NXVA 79X in a boat on the 177 and later they found
a nn on the bottom of the river, which disqualified the nXvr n1 798, We see that the 19X is I8 9apn, so why are we
saying that (only) the 779 is AR 22pn (see footnote # 63).
% When a person touches a yw (which is an 7%m1077 2X) he becomes a 7xmw? WK (but he in turn cannot be QTR XAWLA
o*haY), If this WX touches food or drink, they become a *1w, the >3 can make a *w>w if it touches Ppwm PHIN.
Regarding w7pn it can become Xnv even from a *w>w. Therefore there is a big difference between the 719 (which is
considered 7°721%, and) can be IR™MWV 22pn even from a *w 5w, and the 79X (which may be considered a °2>), which can
be nxnw 22pn only from an ARMILI AR, but not from a w>Hw 2w.
7 moon is referencing what he previously asked (see [text by] footnote # 47); what difference does it make whether
the 715 can become RnY or not, since in any case it is D>IMX RALA, since TN NPV ’PL? 1910, Previously we had the
answer of the "7 w191 Tw1'. Here n1v01n is presenting and rejecting other possible answers.
% When the 7 touched the 779 (after the nu nw) the 779 is no longer 77N XML XAV VIO, since it is 2051, I may
have thought that it cannot be 17218 XMW RMLA, since it is not an 721X (and "1 RHL? 190 7X), therefore W' teaches
that since it had a w127 nyw, it is still considered an 921X and is Xnvn other 122X as well, with the X it received
from the yW.
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mooIn offers a second option why it makes a difference whether the 779 can become Xnv:%°

= 1PYSIN INMIV NPV NIV DA YN ON NYD9IY INN 9INP 290 1) ON

Or you may also say this is what v"2 meant, after the 775 was 79051 (by whatever;

either by a v or 719891, etc.) if a (second) y=w touched the 75001w 799, the 7179 is
still 921N NN R2AWA -

= Y191 NYY NY NN HINN

Since it had a 921277 DYW and it can be Xnvn only because of this (second) 7w -
=99 95991 1PN NMINN ANMIV NNV 9325V HNY
For the fact that in the past it was already 7 aRm™w X2w, will not be effective
that it should be able now to be 7"72I1X XMV RAwVA -
= 11990 NNV NNVY IND Y PR NN ROVYAT INNND
Since now it is no longer 5791717 XX KAV 1219, so without the yw it would not be Xnwn
79I NRAW -
- AT IND TPINNY PN (3,38 97 pon) 7OAWPNN NNPNA PION NIIN)
And the proof to this is from wpn 7272 P99, and there is no need to elaborate

on this here -

In summation; according to the >3 w151 7w the ruling of 123 NXMY KAVA 779 is that if the 779
touched a Xnv 127 it becomes 705. However according to the "X and the 1"X, the ruling of 719
7XnLnA is that if the 7170 became Xnv (so it is assumed that it is 091), the wT°n is that even though
it is not 7777 ARML XML 1910 (for it is H001), nevertheless it can be Xnwvn other POIN.

MBoIN responds:
=907 YIIYD PIIYY MIYN DT 1993 (3,ap 91 NN 72997 YYD IND WY 190 NY

It is altogether impossible the explain the X723 here in this manner, since the X132
in M7 'on asks; ‘since W' maintains AT WD NWH TR 9D -
= PYIN NNMIV RNVN INHN D99 9
So why can 2n and ;775 be 192X NR2MW RAWA’; so Moo asks -
= 1759937 YO0 NMIY PR INMDIV NI9N NYAPY INNRD RN NIWIP INMDY

% mpoIn may not be satisfied with the first option (footnote # 68) for if the 7w is %019 the 7115, how can it also be Xaun
the 779; we cannot expect the touching of the 77w to accomplish two acts; that the 799 is Y091 and that it becomes Xnv.
Therefore mdoIn offers an alternate option. ¥"¥3.

0 The x7m3 there states that meat which separated from 117 12 72X, requires 2» w37. Seemingly when this meat was
part of the *177 72 72X it was capable of being 77 n XML Xnon (like a 77°21), and we know that 8mIL Xnwb 1DOW 93
710 does not require YWY 2% IR, so why does this Iwa require o°n w7, This proves that this rule of Xnv? 1910
770 AR is only if now it is XnYY 190, but if it was Xnv? 1910 in the past but not now, it requires Iw27.

" According to the last two answers of '01n (the "X and the 1"X) that we assume that the 7779 is 081, and the w17°n1 is
(only) that it can be Xnvn others, so what is the X3 asking that it is :19w> 729, but since we assume that the 719
became Rnv and it is P03, so it is not 72 7MY, and therefore the w1 7°n is correct that it can be Xnvn other 1"92IX.
However according to the >3 waon 7w (see # 59) that the v n is that the 775 becomes Y0911 ¥ if it touched xMW
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But what is the s'k 3 difficulty, for once the 792 became X% she is no longer

awaiting 5" W, since she is 7ho51 -
= ANV YHIN N2 INHYN

But there still remains in the 7775 the touching of the y7w which makes her xnw -
- 2ZHRN Y9 NYN XY D3 Y39 KY 1999N)

And even if the Y@ touched her only once -
- 11990 D909 935 NI NYINN DIPN YN

Nevertheless from the initial touching the 7775 was already 9o -
$9IYY NHTNIY PR 925 INT PIIIN NINHDIV ANNVN DY) D)

And at the end of the touching (after the 715 was already 177091) it can be Nnw»
P92IR NP, for at that point it is no longer = w>» N7,

Summary
TR NRMILY RALA 719 can be discussing the capacity of the 7775 to become Xnv (and

be H001), as well as its capacity to transmit 7XM.

Thinking it over
If we are '8nun' 071 (like >"wn regarding 717°%),” did the v W touch the 715 or the

PY2774

2. mo01n asks what difference does it make whether the 7379 is 77v%7 to the pX2, since
12777 it is AR Dapn even XIW 992.7° However it seemingly makes a difference
whether this p¥a can be Xnun other food, for which we require a 7%°23?!7

(since it had a 72127 nYw), the s'%na question is understood. The X713 is asking how can you say that it became Rt
(since it had a "w1271 nyw) and 093, but since it is AMWH 7AW it is A7 AW, so it is not an 9K at all. Once food is
burnt, we do not say that since in the past it had a w137 nYw it can be XML 22pn; so if it is M7 W), the fact that it
once had a w157 nyw should be irrelevant.
2 This may be referring to the 7"X) (see footnote # 68 [and 69]).
3 See footnote # 53.
74 See v19 11°21 "0 and YWY 1" in the NXPH TOW.
75 See footnote # 55.
76 See yw 1 *10 and wn NYM.
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